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1. As per 1S800-2007, the buckling class for hot-rolled tubular sections is

%'a B) b

€ ¢ D) d

@).Qe 800-2007 Ly Geuliu 2 BB Gmis ey eurisaflen Gpeflse eu@iiy

(A) a B) b
© ¢ D) d
; 2._ The water cement ratio is expressed by

(A) based on volume of materials
W based on weight of materials
(C) based on density of materials

(D) based on percentage of materials used

B AQwenr_ eflflgb ereucury AemdaliuBdng?

&) Qurm seailen sar sarenaus Qunmiss)

B) Gumrm sefler erenenwis Gurmss

(C) Qunmsaier <irsdawl Qurmiss

D) euGurdlsstiu@®b Qurmp sl sseissms GuUrnSE

3. The most commonly used admixture which increase the workability of concrete is called as
\M Plasticizers (B) Retarders

(C)  Accelerators (D) Air entraining agents

snsrerylen Coumaliu@saemoau flsfss uwaL@D eupsswrear GCsilLé swmal GreuaumD

2lmwps&aiiLBEng?
A) ApdPunsdaer B) Hmulser
(©€) agfigwrsdlser ‘ (D) arpmy meney Ghlgen_ser
« "3 CECV/18
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4, Increased height of building or room give better ventilation due to
(A)  Cross ventilation
(B) Wind effect

w Stack effect

(D) Combined effect

R DD DG Sl b & Wb Sflswreame pow srHGomLIb He&Hng). aTHaiT?
Q) EnésstHEHT_LLD

(B)  snpp eflenarey

©) <2ps@ dmarey

D) goadaarss ellamaray

5. Which of the following material offer great resistance to cracking or disintegration when

subjected to fire?
(A) Glass W Asbestos cement
(C) Aluminium (D) Steel

Sullemed Geuigliy Sidbag HosambGuis SmasEsse Spssamnapne abps Qurmer oiHs

adlitienu Qar(Hiafma?
(A)  sawremrmg (B) sopmm siCen
(€C) sguiaflwuibd D) e’
6. In an auditorium if the reverberation time works out to a value greater than 5 second is
considered as
(A)  very good (B) good
M very bad (D) bad

oy afAgredliy Cpnb 5 Ossan@éE Cuars @mbsTd HES THssmS e Qeudig

SBMPLILIG?
(&) Sa ey (B) menmy
(C) Sa Gurabd (D) Cuwrsbd
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Consider the following statements. Which of these are correct?

High water to cement ratio in concrete result in

1.
2
3.
4

(A)
©

Stronger mix

Better workable mix

Weak mix

Less bleeding

1 and 2 d' 2 and 3
3 and 4 (D) 1land4

emeu(mpLd sadmsener &HEIs. Sjeuhmier g &fl?

anarenyuden 2fls HrAbl g eNAsb sryemnons

1.
2
3.
4

(A)
(©

e mSlwrer swane Slen_sdmg
Apps CalcmauiBseraio Qarean, swame deLs8ngl
2 mid Genpeurer seweneu ElenL_sEng)

@@peuren HriGLITEE
1 wmmid 2 (B) 2 wpg 3
3 wpmib 4 D) 1 wHmd 4

The role of super plasticizer in a cement paste is to

)
®)

)
(D)

disperse the particles

disperse the particles and to remove air bubbles

disperse the particles, remove air bubbles and to retard setting

retard setting

e Ay uamauiie 255 Apdflursdular Cauemen

A)
(B)
©
D)

giseraener GALILIgG

gisaaaman 19f0LE wHYW srHn GOhsmer QeuallGubmieug

glsarsanan AAGLIE, srmhn Gulpsamear QaeflCupmieus LHND GNEGsme STSLILIg)

Qn@soe smodlliug,
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9. Consider the following stages in the manufacturing of bricks
1. - Weathering
2 Moulding
3. ~ Tempering
The correct sequence of these stages in the manufacturing of bricks

1,3, 2 B) 1,23
© 231 D) 3,21
Qeruse sunfilbe Geraumd flaasmar &mg)s.
1. Slenzay
2. QUITTSHE

3. pnEGCaHm

Qemsad swurfliba erg sflwner cuflenss Siyon?
@A 1,82 B 1,23
© 231 M) 3,21

10.  What is the percentage of fine aggregate of fineness modulus 2.6 to be combined with coarse
aggregate of fineness modulus 6.8 for obtaining combined aggregate of fineness

modulus 5.4?
(A) 30% (B) 40%
50% (D) 60%

eoudlomans sodls apaafldar peaman Garsh 5.4 s Qmés, H@mmn Gash 6.8 Qaremr
soelsasneEnen Cords Gouama Biaramin @eamsb 2.6 Asrar. wemalean ssaisd eréuTen 2

(A)  30% B) 40%

(C) 50% (D) 60%.

"11.  Floor Area Index (FAI) is
W Cavered areaof all floors y

Covered area of ground floor 3

100 . 100
Plot area ®) Plot area
Plot area Plot area
C 100 100
© Covered area of ground floor 3 ® covered area of all floors :

semb - Lyl GHludCL_eir eremiui(Beug) ereren?

DB HeTrisetien apigut ugl e .
(A) Bl & tplg 0| «100 (B) WI’W?@“ Apig LTl 100
Gemm Ly Sermi Lgliy ;
* gl Qemm Lgs
Serm Ly guy
© ok x 100 D) _ =1 - x 100
SOTSSTSHEN apig Lt LIFUILY SnenSg seriisatien pigu LTy
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12.

13.

14.

Agonic line is the

(A) line connecting same declination

@ line connecting zero declination

(C) line connecting max and min declination

(D) line connecting zero dip

Canemnb o_awr_nésr Can(® eremLig) ereen?

(A) @Crafleneu Qevemra@d Car()

B) & sl Qavamaebd Car®

(©) Qu@mw whmb Ao sflenas Gleema@GnGETH
(D) &P pysas GeamenréEn Can@

Which one is not the fundamental line of a theodolite ?
(A) Horizontal axis (B) Line of sight
(C)  Vertical axis P Axis of altitude bubble

HCwrenL_ema iq.6 erg gL Can® S ?
(A) Sewl L =266 (B) uniencusd Can()

(C) QemEgg &s D) @EsawrGOD Fs

Adjustment of focussing screw of a theodolite enables getting
W clear image of objects

(B) clear image of cross-hairs
(C) clear image of diaphragm
(D) clear vision of stadia lines

@@ HCum_ma gar Gellu Hm@smer sfl Qalioug) erappars?
(A)  Qumpefier Ggefleurer s _flésna

B) EDsG wyulear Agaflaurear sm_fssns

©) @apulen Agefeuren sm_fésrs

D) @GLquwnr (stadia) Carpaetien Qgafieurar urimassts
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15. Refraction error is

(A) % of curvature error (B) % of curvature error
M % of curvature error (D) % of curvature error

gefleflasd Gy eremig

(A) % (uenerGani:(iGeig) (B) % (aIewarGam @ Genip)

©) % (euenarCarL@ Genp) D) % (auewenGsn @ Gang)

16.  The combined correction for a distance of 3 km is approximately .
(A) 03m (B) 02m

(€ 05m w 0.6 m

3 W8 Qgrevaeilen Canymwiome gmhiSlaanhs Smssid
A 038 (B) 028
(C) 0.5.8 (D) 0.6

17.  In trigonometrical levelling reciprocal observation eliminates
(A) Instrumental error M Refraction error
(C)  Gross error (D) Compensating error

ap&Garean wi_ L réasedld, smadp 2 HnCrrasd ams seilTsfng?
(A)  smel GQenyp (B) dlead Genip
©) @LEOwrEs G (D) B@uiSCE Gep

18.  Satellite station is related with )
Control survey (B) Mining survey
(C) Topographical survey ; (D) levelling

QewpensGarar flevanwib areea L er Qem_jenLwig?
(A) s RUuUTL® serenauufiued (B) &ris sereneuufwie

(C) Csme syerenauuiuied (D) 1wl wrésd
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19.

20.

21.

The variation of BM in the portion of a beam carrying uniformly varying load is

(A) Constant (B) Linear

(C) Parabola w Cubic parabola
Frra omoib LEn Aarar ol Sdlen cuener HmLiLenio eriiLig brmith?

(A)  wmdled (B) CriGam_ms

(C) ugaueerwonrs D) ser LuFeuETLILOTS

The relationship between maximum bending stress (o) offered by a section, moment of
resistance (M) and section modulus (Z) is given by

(A) M=% ® M=% .
ag
.

& M-c72 © M-——

Qu@n  eeaer geose (o), Smliyew eadiiy (M) wvpgow Qi@ Gewsd (Z2)
2 Hlueupmsdlent Cuiujerar Ggm i

c _Z

(A) =7 (B) M—O_
© M=0-Z O M=—1
c-Z

When a shaft is subjected to torsion, the relation between maximum shear stress (7),
modulus of rigidity (C) and angle of twist (&) is given by

C R co r
& =T T F
ce r C =
U i
where
L —length shaft

R'- Radius of shaft

M sEMLd PNEE Qsuou@bCurg Qumy BNEE sose] (7), daply garsd (C) wnss
Carawrd (0) afweupmsden Cuiwjerer Qg miiL

C6_R d =k
W =t ® TR
Cé r . C =
(C) = D) 16" R
L — geamg.ein Femb
R — geairiqen 471D GTET (51
9 CECV/18
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22.

The thermal stress is given by

(A) «LT \( « TE

ET _ 1
e D) ExT

(©)

where
E — Elastic modulus
T — Temperature difference

o« — Co-efficient of thermal expansion

Qeuiug semseilen @sHyd eranan?

(A) o LT B) «TE

ET 1
© - O FeT
E - §_8 gewabd

T - Qeuiulene Cougyuim(®
o — Qeuiu efifley wmledl

Sabine’s formula to calculate reverberation time is

L6V 1.5V
C) t=—rn D) t=——
(©) A (D) A

0.15V 0.16V
A t= — i A
@) A LV A

1.6V 1.5V
C {=—— e
© A (D) £ A

CECV/18 10



24, If T is the mean or average torque in non applied and N is the number of revolutions per
minute. Then power (P) transmitted by the shaft KW is

2x#NT 22NT

A T BY. ZX=
@ 600 (B) 750

M 2ZNT ®) 2zNT

60000 45000

Bl-8-é sgrefl ppsE ‘T’ aereyd, il s8d swpilsalar aanafllsms ‘N oysad @mbsmed,
&l.eum_iga gar_me) Qeaussiu®d xnnd (P) erenen?

2aNT 2ZNT
@ 600 ® 750

2aNT 2zNT
© 60000 ®) 45000

25.  If E is the modulus of elasticity and I is the moment of inertia, then the flexural rigidity or
flexural stiffness of the member is

A E/I % El

© I/E D) EI

BLAs @ewan E, Bleanew Sy Hner I erafled qm 2-miiGen cuemarento aflenmiiLy eremen?
A E/I B) EI
€ I/E (D) Er

26. If E is the Young's modulus and I is the moment of Interia. The maximum deflection of a
cantilever beam of length [ carrying a concentrated load W at free end is

ilf Wit Wi
3EI ®) 3EI
wi® wi

© 8EI (D) 8EI

B85 gawman E, flaww Hwmiys Hpear I aeafld Qang qpaania W aem @ell aamweamu srai@L
&l555) e L_gdlen Berb I QLo eflevsaid ereten?

Wi wi
@ S ®  3E
Wi wit
© 3 D) 3E
& 11 CECV/18
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28.

29.

3
If E is Young's modulus and I is moment of interia, then the expression EI —Z :: at any
x
section for a beam is equal to
(A) load intensity at the section
shear force at the section
(C) bending moment at the section

(D) slope at the section

d’y

 wiigeamad E, Hleow Hmiys Spen I aafle @ ﬁLL&ﬂéT'QmI._lq.[bﬁﬂm ey erenm Cameneu
x

argamens GHladng?

(A) b5 Qeuger Lien Qehellanar
(B) <ips Qeul e pmidE eflens

(C) =bs Qeuigenm auener SHLiLieno
D) obs Qe e smiey

In plastic analysis, the shape factor for a triangular section is

@) 15 234

© 17 D) 25

Apdf uELumLele, g waCararsder o meu el org?
@A) 15 (B) 234
© 17 (D) 25

The reaction locus for a two hinged parabolic arch is
M a horizontal line parallel to the span (B) a parabolic curve
(C) acycloid (D) a elliptical curve

@ @Al aL Qaramyg. Lreumeny efldvellen erflieflener @Gellwib ergl?
(A) Bl sdlneE @eanunar derw L Car® (B) upeuaanu cuamereueny
(C)  &ped (Cycloid) (D) sfugeuemenus cuenateuen(y

CECV/18 12 ‘ <



30. If | is the length of the column, then the equivalent length of the column for one end fixed,
and other end free is

A ! \M 21

(© —’5 )

1
2

am sieflar fanb I, sigen @@ poear Hloaluraisrseab, wopmar deuHn amarunse
B mpsme grewflen swmen Hemb ereman?

@A ! B) 2l
l l
© = (D) 5

31. The plastic section modulus of a rectangular section of width 10 mm and depth 12 mm is
(A) 100 mm’ (B) 180 mm®

(C) 240 mm® M 360 mm®

@ Qecieus Aeut igen siaab 10 IS, o 12 1 S erafle siger Apdlfl daul [ Garatb

A) 100 48 (B) 180 51§
(©) 240 A4S (D) 360 S

32.  The influence line diagram for reaction at a support of a simpiy supported beam is
M a triangle with ordinale 1 at that support
(B) a tﬁangle with ordinale 1 at the other support
(C) arectangle with ordinale of 1

(D) a rectangle with ordinale of ?12-

G arafigmiid 6L sHen @m G Ldrafludia o erer erflielleandsmen LrSliLs Cam_ B LLbD
A)  =ips s yaralluda @sgurd 1 Asrem._ p&Caremid

B) wHQprm srhe Lareflild Gszwmd 1 Asrar wsCaremmd

(C) @Esmwnd 1 Qsrear_ GQsueusd '

M) EEsWID % Qareim_ Qaeieustd

€ 13 CECV/18
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33.  Match the List I with List IT and select your correct answer using the codes given below :
List [ List II

(Name of the person

associated with the (Method)

methods)
(a) G.N. Maney Moment distribution
(b) Hardy cross Slope deflection method

(¢) Euler Theorem of three moments

L A

(d) Clapeyron Crippling load on column

(a) (b) (© (d)

2 1 4 3
B 1 2 3 4
© 1 2 4 3
D) 2 1 3 4

uciguwied I e uliquied IT 2. e Quinmégis
&Gy Gardasuul L @hluEsmen LB Es:s :

u g I g wied IT
(apepu)_en Qemiyen_wi (@peom)
BUITEET)
(a) G.N.Guwef 1. Smiento LIFeud apenm
(b)  emmitg Syrev 2. sfley eflewésapenm
(© e 3. apsflmiiyemn Capmbd
(d) &HCergwen 4. snewtlen Ly LEs

(a) (b) (c) (d)

@A 2 1 4 3
B 1 2 3 4
©) 1 2 4 3
@ 2 1 .3 4

CECV/18 14



34.

The three hinged arch shown in figure will have the Horizontal Thrust (H) of

(A)

(B)

20 kN

30 kN

" 40kN

D)

50 kN

uLsSled Qardsstiuc L aps&@arearyg. Lifeuemenugilen LssaTL (B SIAPSHSLD eremen?

(A)

(B)

©

(D)

20 kN

30 kN

40 kN

50 kN

15 CECV/18
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36. What is the degree of Kinematic indeterminancy of the frame shown in figure? Neglect axial

deformation.

oA

(A) 14 ' ®) 12
e -1 - ' o s

L uLsAe QerPssiulL slLsshlan @uE smsdrs samoifer et aaer?  SiEs

2 (HOTHDSMS &(hE Galemrimb
(A) - 14 (B) 12
© 10 (D) 8

37.  While using three moments equation in the beam analysis, a fixed end of a continuous beam
is replaced by an addition span of

M zero length : ' (B) zero moment of inertia
(C) infinite length (D) infinite moment of inertia

o L sos widpiuemn Cappsflaniy epie) AniybGurg, e Agrieisfdr Gy
apenen aips HLsems Caigg uHSO Asiwiu@dps?
&) syl fombd B s BoawSaiy Spdr

(C) samsflaL s Hembd D) sewsdetiar Heaowdmiy Spen

<« 17 CECV/18
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38.  The soil which has more plasﬁcity index is
(A) sand (B) silt
(C) grével _ w clay
<218ls Genpenod s QL e QameawrL Loewr '
(A)  wewe (B) euami e
(C) sipeow (D) sefloer

39.  The method which is more suitable for the determination of permeability of sandy soil is

M constant head method (B) variable head method
(C)  horizontal permeability test (D) hydrometer method
LoewTed &b Loeirenlern ‘ear{mey’ eneninanit 2Bl 2 Feylb pan
(A wror friwss 2wy gpeap (B)  wrgb Brupss e wy apenn

©) ALl safmey Cengaen (D) grwwrefl wpen

40.  According to Boussineq’'s equation, the stress intensity of soil at depth ‘Z and horizontal
distance ‘7" due to surface point load is given by

Quierdlend'sh soenum_yenig, Z - wosdled r - deoLwnlil smsHe. @@ wael uEpag el
QsweuBw wararflan (1955 smsay ez

2 2
( A) oy Q 27 (B) oy = _Q_ 2r

]
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41].

42.

43.

The gross bearing capacity of a footing is 450 kN/m®. If the footing is 1.5 m wide at a depth

of 1 m in claying soil with unit weight of 20 kN/m®, then the net bearing capacity (in kN/m?)
will be

(A) 400 | & 430

(C) 450 (D) 500

@0 sian sasde Qurss sraEdpear 450 kN/m® 20 kN/m® grag el werer seflioammantle,
L5 m wisagpdrar sanLésnd, 1 m g ps8ld eaisstiu@oGurg flsr smmigdper g (kN/m?)
@A) 400 | ®) 430 |

© 450 (D) 500

Compression index on a soil helps to determine

(A)  total time requ'ged for consolidation

(B)  time required for 50% consolidation
W total settlement of clay layer

(D)  pre-consolidation pressure of clay

Qb waerflen ‘psas s QAL aeanug Qs xflu 2 sadins
(A)  spnssEs Camenwnar Qurss Curo

(B) 50% siapmsgisas Comeuwnear Crid

(C)  saflwer 2@sfler Qomss 2ipriso

(D)  seflwarenflan apen SjpRisD (PSS

The relationship equation of Void ratio (e), Specific gravity (G), Water content (w) and
Degree of saturation (S,) is

(Ad) S, =weG ' - B) SG=we
© Sw=¢G T Se=uG

yeny efldlso (e), sw Hleom (G), Brerey (w), mﬁ;gij Blenp Qardle) ey (S,) @eunmsden Cuilimer
Qgmity swenun® eremg) '

(A) S =weG B) S,G=uwe

(C) Sw=eG ~ D) Se=wG

19 CECV/18
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44.  If S is the shear strength, C is cohesion and ¢is angle of internal friction, o is the normal

stress at failure, then coulomb’s equation for shear strength of the soil can be represented

Mc S-o tang

S=C-octang
(C) C=S+otang
D) S=oc+Ctang

S- pméE aelenn, C-Geemriy, ¢-ss2gmie Caramd wHML O -2 (BEGMVe| 56| eTafle,
wewrenflen HmidiE cuallenioGamen sagId FLOGTLIT(H GTETLIZ).

(A) C=8S-otané

(B) S=C-ctang

(€ C=S+otang

(D) S=c+Ctang

45.  If H and V are initial height and volume of the soil specimen. AH and AV are corresponding
changes in the values of height and volume in a Triaxial Compression test. The area of
cross-section A at failure or during any stage of Triaxial compression test is given

V+AV
v A=H_aH

V-AV

A=
®) H+AH
V+AV

C A=
© H +AH
V—-AV

A=
(D) H Al

H wppo V cre&n.@ werorlfludan epybu 2w m;bgufn. Qarerararey. AH wpmib AV erenmuig),
pann 26 SipEs Cargaeantla gHLBD rHpriser aafld GniéEoa [H LTl erarig

& AFi
®  A=irm
©, Asian
® A-Fan
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46.

Average permeability (K,) for flow perpendicular to the bedding planes in a layered soil is

@ K -KitK+. ik,
: 142
® k KH+EKH . +KH,

H +H,+..+H,

I+_Ii’{+ n

K, K, K,

_H +H,+..+H,
Wok=r% &
e R = £

H, H, H,

where K, K,,...K, — are co-efficient of permeability of respective layer

H,, H,...H,— are thickness of respective layer.

wewr 2i(HEAHE CaniEse Haoouid syraf ea@meay samw (K,) eramig

K +K,+. +K,

n

A K

<

_KH +KH,+..+KH,

K
&) % H, +H,+..+H,
' H+H,+..+H
C K = 1 > T n
© NTE E, R
K! K?. Kn
H +H, +...+H
D K = 1 2 n
R 9
Hl H2 Hn

K, K,,...K, - arenugy Ré@safien ea@imay Gamsid

H,, H,..H, eénig 2pé@safian gigioen
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47. Fully mechanized plants involving the processes of mechanical composting in India does not
include '

(A) Buhler process

w Bangalore process

(C)  Dano process

(D) Tollemache process

@pdwrefld 2 erar wphilgid sreflumdowwrésiul L e msd k@ QbHS @mpmu.n 2_GTaTL_&&TE)
&) yergpep

(B) Qumius@Esit@penm

(©)  LnGer gpenm

(D) QuLmelliog gpenp

48. The movement of water after entering into the ground is known as
(A) Infiltration (B) Penetration
w Percolation (D) Permeation

wansmrs@aGar, §i sar@pedls CeargibGuing sipen Guissomang
(A)  augp " (B) Q@oaEsd
© shipe D) ouBae

49.  The common chemical used in solution form to remove SO, gaseous pollutant is

(A) Dolomite vaf Dimethylaniline
(C) Aluminium Oxide (D) Sedium Oxide

SO, wraemeu Bés 2 sa)b Caudlssamyad

-(A) Gurevenol (B) e_Gudenraflaed

©€) gfaflub yamean (D) Camgquib =y éenen(
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al.

52.

Which one of the pipe fittings has least frictional resistance in equivalent pipe lengths

in terms of the diameter of the pipe
(A) Sharp elbow : (B) T — connection
(C)  Reflux valve @™ Sluice elbow

Baaiens @i Gaariuraie e gmie aflitellames @mpauns @wm&EHwD
(A) sai L~ eugeud (B) T- @ewenriiy

(€C) Homuy ey D) ety L—angeud

Name the common indicator used in determining pH value that produced yellow as the final

colour when added to water samples

(A) Phenol red _ (B) Cresol red
M Tolyl red (D) Chlorophenol red

Fflan Bimid wEprara @me@nbCLTE <isar pH-g srewr 2 gayb Himib
A)  Geme Halny B) dSeagare Haliy

(C) Qumede dlaly | (D) @CamCGrmlenme ALy

In an Activated Sludge process (ASP), the sludge vplume Index of a good sludge ranges

between _
(A) 10 to 50 ml/gm Q( 50 to 100 ml/gm

(C) 100 to 150 ml/gm (D) 150 to 200 ml/gm

ASP- udléd B H8(H 2_eTGTLSHED GTeTLIS)
(A) 10 to 50 ml/gm . (B) 50 to 100 ml/gm
(C) 100 to 150 ml/gm . (D) 150 to 200 ml/gm
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53.  According to IS 3306, the tolerance limits for industrial effluents discharged into public
sewer shaould have effluent temperature not exceeding

(A)
(©)

10°C : (B) 25°C

30°C - | O a5

1S:3306—en L. AsmPlharena siflasEnseE e dsul s daiiufla

(A)
©)

10°C (B) 25°C
30°C (D) 45°C

54.  If the diameter of a reinforcement bar is “d”, the anchorage value U-type of look is

(&)
(©)

ad (B) 8d

12d ' & 16d

‘d Al gemgeniw* U’ angen Qaradlu@en Seperriiy eremug

(&)
(©)

4d (B) 8d
12d (D) 16d

55.  Pedastal columns are
W Very short columns with effective length less than three times least lateral dimension

(B)  Very long columns with effective length more than four times least lateral dimensions

(C) Very short columns with effective length more than three times least lateral
dimension

(D)  Very short columns with effective length more than the least lateral dimension

3|l DIEHED Fasr Gréinugu

(A)  Goppsuls Sl sereldar apem wLkeos oL Gopeurer Lwen Bord Qerar
&6 @LenL_ e gfetr

(B) @Eopisuls Swiwil selar prag wLkos ol fsorea Lwan Borb QarerL
2_UITLOITGN ST

©) Eoppsuls Aowl el qpam wLmms ol sdsorer LD Bomb Qamegm_
Wleeyd @LenL e giedr :

D) Eopbsus Aol sl flswrer Luwugim Sand Qe Wlsayb @ LenLwimesn
gkt ' '
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56. In a singly reinforced beam if the failure strain of concrete in bending compression reaches
earlier than yield strain in steel, the beam section is called

(A) balanced section

(B)  critical section

(C)  under-reinforced section
over-reinforced section

Gm UGHD augia wadr Qarar el o, .@s sddsd ageilipiy difleou s auspe
penansnatas cumeney Qmisssdle SHansran mgleﬁh‘,puq Hlenn e Bene) 2bs el L Sdlen
Qau_ (LGS Qeaurm SipasiiuBSng.

(A) swarGslwiu’ L Qe HuuaEd

B) ewwflee Qe RuUuEGEH

©) E@paura aigiap st aran® el HLILEGE

D) sfsworar uglies s daran® Qe GuuE

57. The maximum shear stress in a rectangular beam is
w 1.5 times the average shear stress
(B) 1.25 times the average shear stress
(C) 2.0 times the average shear stress
(D)  1.75 times the average shear stress

Qesueus auigeu L Hld siflau’ s pnsEeilams ereng

(A)  ayrsfl BmsE eflenganunGLITED) @aTpey L hiE

(B)  synafl pmée elemsauiGuTd @anGpsiTe L kG

(C)  aymafl pmisE eflensenwiGured @reamm(H L BE

D) syl péE llemsewiGud aEGCDAPESTE L EIG

58. In rolled steel I beams, shear force is mostly resisted by

w Web only (B) Top flange only
(C) Both web and flanges (D) Bottom flange only

I-angeu @iy el L8, pnéGelams Gaeme srdissiiL@Spns
A) @menrii H&0H LLHLD (B) Cuwass® wlBHid
(C) Benamiiy wpgid Coags LT (D) &pssLne
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59.

60.

61.

A lag angle
(A)  increases the joint length and shear lag

(B) increase the shear lag

W reduces the joint length and shear lag

(D)  reduces only the shear lag

Qevenris Canesr s eremig)

@A)  Qaaniy Csransmsub Bnée Asmimeubd siafssn
B)  ppég Qsmime oHsfsdns

©) @eariy Canemsersub pmiseE Csmiameub @Gansdngs
D) poéE smime Gmpsdns

The ratio of effective throat of fillet weld to its size is

(A) less than 0.707 (B) greater than 0.707
© 085 & 0.707

LD Hp55I0 LGS HNID SiFe SiaTeyEED @enG 2 dror efldsib

(A) 0707 A& @epay (B) 0.707 efl flsid
(C) 085 (D) 0.707

In the pretensioning system, the prestress is imparted to concrete by
(A) compression '
W the bond between steel and concrete
(C) tension
(D) bearing
#Qwly spsrarse pear-@ueles Qdary QsrGésiu@aps
(A)  apssDd

(B) e, spsrer Devemriiy

©) @upareu
D) srRGso
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62.

63.

64.

Surface tension is due to cohesion between liquid particles at the surface, where as
is due to both eohesion and adhesion.

(A)  viscosity

W capillarity

(C)  vapour pressure
(D) elasticity

uruy @pellens eremuig LFLGe o erer Areuggsas@psdea Cuuwrer DeneaoriQemme FgouB g,

LOMDITE erenLig) lenamTiiLy Hmib L B Hemenroufenmay FHuGEng).
(A)  unghlew

B)  yerGuppb

© el Sipss0

(D) Fl8 ganeno

The pressure less than atmospheric pressure is known as
(A) suction pressure
(B) vaccum pressure
W negative gauge pressure
(D)  positive gauge pressure
aafl Ssssmeil Gampairar Sipssib ererLg)
@A) 2pes siwssd
B)  QaualiGupp <iapssid
(©C) eafinenp iapssd
D)  Cpiwap <ipssn

Which notch is preferred for measuring the low discharges?

W triangular notch (B) rectangular notch
(C) trapezoidal notch (D) parabolic notch
Gapeuren deuafiCpnéens Sjeés 2 shHs @@&@Qwﬁ.@ Gulg.GULD
(A)  psCamen Qeul_{ (B) Qeeueus Qaul
©) mrpsr Qe @ (D)  upeuemerw Geul @
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65.  Motion of rotating mass of fluid is known as

W Vortex motion
(B) Steady motion : !
(C)  Spiral motion |
(D) Radial motion
shflé Qeren® pamd Hreusden @usshd Gdeuny Sifluiu@dng.
(A) s Gussid
(B) evdiyorer @ussio
(C) sdm Qussd
(D) Carewr Qussibd

66. The relationship between duty (D) and delta (A) and base period (B) is expressed by

1.98B 5.68B
A A=——— A=
(A) D (B) D
8.64B 8.64D
= A=
o = (D) -
where D is in hec/cumec
A isin'‘m’
B is in days.

ugiy (D), @b (A) whpb sraw (B) Geauphler Qs iumerg

1.98B 5.68B
A A= e
A) D (B) D
8.64B 8.64D
A = A -
(©) D (D) B
Qe
D arémuigy hec/cumec @)ed

A eremug ‘m’ @éd

B erenug) ‘days’ @
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67.

68.

69.

The discharge of water through a rectangular channel of width 8 m is 15m?/sec when the

depth of flow of water is 1.2 m. The specific energy of the flowing water is
1.324 m (B) 2.824m
(C) 3.124m (D) 4.123 m

8 f wisaupaw Qsdas sroami a@Cu 1.2 & owsCsr@, 15560 sereild QeuafGupmid
erafled, LmiieSlem & MM eTaTLS)

(A) 1.324m (B) 2.824m

(€C) 3.124m (D) 4.123m

The S-curve is the summation of

#”  Unit hydrograph
(B) Total runoff hydrograph
(C)  Effective rainfall hyetograph

(D) Base flow curve

S-auenereys Cam() eramigy) @eumlen sl L e
(A) grag B eemyuLid

(B) Guomss e fifo euenyuitd

(C) uvweym wenip TP&ES cuenFLILLD

D) siueL QUL aimeney

The number of wire in Magnel cable varies between

M 2 to 64 (B) 10 to 100
(C) 20to 120 D) 8to78
wrsGare euLgHaerar sbidlaafien eramenflsms 2 GD.
(A 2-64 (B) 10-100
(C) 20-120 (D) 8-178
29 CECV/18
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70.  The section factor of a rectangular channel section of width ‘B’ and depth of flow Y’ is given

by \
(A)  B(y)" vl(‘ B(y)"*
(©)  B(y)* M) B(y)*®

s B, umia) sypn Y o alw Qriiaus Gnéeee () UIlLs®E, allg.a smya eramig
@) B0)” ® B
© B D) B()*

71.  The weir is always aligxied at right angle to the direction of the river flow because
(A) it ensure less length of weir '
(B) it gives good discharging capacity
(C) it is economical
it ensure less length, good discharge and economical

eriGumgd ymile Bir Qedand Heavsse AemtiGssns sHULme St UURADS, gCeaaid

@) @5 eopanen farbeos o HHLOSHEDE

B) Q& ofls QauallCumd Hpeens GarHESH s

(C) @Gmeuren QFwey

D) @a& Gopaurar berbd, fs QeualGupm Hper wHmb Gopaurar dswamal 2 NHUGSHHDS

72.  The vertical depth of the centre of pressure, h for the inclined plane surface below the free
surface of the liquid is

_ I.sin@ _ I.sin’@
- 0 sl

_  I;sin*@ _ I;sin’@
Mx«» e D) x i

Brour09ne G smipgerer sal G0 urinded QsuduBd iwsssHar wsH yerallsster
Cpira@ss smb h g

(A)

_ I.sin@ _ I.sin%@
(A) x__GA_. (B) x.,.G___z_
_ I.sin’@ I.sin® @
C G = _ *¢
(C) X+ D) =x =
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73.  The force exerted by the fluid on a pipe bend for x direction, Rx is given as
(P A), - A, - [Q Ve -Vi,)
B (P A), +(P4,), +[Q (Vor -Wi,)

© (B A),-(B4),-[Q" (V,-V)
M) (R A ), + (P, Az)x'

cuenahs @GLomid, x -Sosulle Sraussre saflsatiu@n Hyeu dlleows Rx ecramig
@ (B 4), - (P 4), - [Q(Ve, -Vi,)

®) (B A), +(PA,), +[Q (Vo -Vi.)
© (B A),-(Pd), - [QF (Vi.~Va,)
(D) (P1 A, ), i (Pz Az)x

2

74.  Bernoulli's equation written in the conventional form £+21—+z = constant represents the
w zg
total energy per unit ,
(A) specific weight _ (B) volume
l weight (D) mass
‘ QuirGenerel gwemim(® B ;; +2z = e ereng @GO g GLLE @ SI0E D&
w
Quorgs Hmanand @MU HEDE
(A) swetenl (B) Qanarererey
©€) ean D) Heop

75.  The path traced by a single particle of smoke issuing from a incense stick is a
(A) stream line (B) flow line
M path line (D) streak line

<siLsHulemig Ceuafleumb yasuamsd sLssluBbd UraguUTaEg)
(A)  &yrewm Car® (B) umie Gar(®
(C) umens Can(® (D) Guaedw Car®
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76.  Which of the following has the highest infiltration .capacity?
-(A)  Rock out erop
(B) Concrete pavement in airport
(C)  Grazed pasture

w Forest land

Spsaem_suppier erg) Sifla carB ey Aper Qeraim g
(A) Peuaflufier Azfluyb Lirem

(B)  dwrar flavewsHo o drar Hawareny Lirens

(C) yeQeuaflls Liptiy

D) s @ fouusd

77.  Three basic modes of transportation are
m Land, water and air
(B) Highway, railway and airway
(C) Airway, waterway and highway
(D)  Pipeline, belt conveyor and elevator

Cuns@eaunsdler apenm gL aUENSWLITAIE
(A) B, B, smHm
(B) Gp@GeErsraa anfl, @rule eull, eumen cuifl
(©) eunemaufl, Hiranfl, ApGErarane aufl
(D)  @wmi sy, pamd Guel, engnsd

78. Bump integrator equipment is used to

M measure pavement surface condition (B) find pavement deflection
(C)  fix camber value (D) find design speed

LD g(henwULIBHSID smeflufen LwsmLT®

(A) smee ger seanioemiLl SiHlwl (B) smeva mem cuaneni b enepLoait i

©)  EnseE sfey iflw (D)  augeuaniolivy Geustd yflws
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79.  If d is the thickness of a concrete pavement the equivalent radius b of resisting section for

an interior loading is

(A) b=+0.6+d®-0.675d
e o ieid 0654
© b=v1.6+d® +0.675d
D) b=v1.6+d*>-2675d

Aoy spatey sroe sasfdar Sgaaey ‘d’ aaEGsTaRTLI®D @ 2L 4D  LEHemeu

aAiriugnHaner GnéE Aeul iy snflaa <prb ‘b’ g

&) b=v0.6+d*-0.675d
B b=v1.6+d®-0675d
© b=+v1.6+d? +0.675d
D). b=V1.6+d* -2.675d

80.  Selection of gauge depends on
(A) Type of sleeper and ballast
(B)  Points and crossing
ﬂ Traffic volume and speed
(D)  Rail strength and ‘rainfall

Grde e _Geafl erenLig), Gest) AUTmSSS)
(A)  priuE sl wHnh sHGENLD eiems
(B) yerefiser whmb GnéEsEHser

(©)  Cursgeurss sieray wpmibd Casid

(D)  @ruled euallenio WHOILD LML SieTay
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81. The standards and laws for international flight are governed by
(A) " TAO & 1CA0
(C) 1ICO (D) CAO

sireuGge efloren Curs@Geaursg eflflsmar e haurs@ealsl
A moeg B) miaeg
©) amée . D) SHag

82.  Which of the following is taken into consideration while determining overtaking sight
distance in four lane highway?

(A) Distance covered during time
(B)  Distance covered during overtaking operation
(C)  Reaction distance plus overtaking distance

W Distance covered during reaction time plus distance covered during overtaking
operation plus distance covered by the opposing traffic

prang el Ar@EsToaild has@bsTen LTime SITSmss s b Spsaam_aupmier 65
smeHo Qarareriu@Eps?

(A) Qsr@ssculL Crrshle sLEs LI SfD

(B) qphgibd Cung) s ssiiulL giyn

(C)  edi Qewaun® siyb wHOID PHSID ST sl L

D) adi Qewoun® s, appgnd Gung sSLEsHULL SIMD WHYID arflir aupd Qpflaaia
sLssOLC L gimd spdweunblen sal L e

83.  Which of the following is considered to be the highest quality construction in the group of
black top pavements

(A) Bituminous carpet J Bituminous concrete
(C) Mastic asphalt (D) Sheet asphalt

smoy o Gopurieus Gsrar. Qpéipey sreesdd Spssar_apbla g Nesfpbs

sL.(Horanons smsliLBiEns)
(A) - g fiiy ' (B) snit Hewranreny
(C) Qpdy epenuimal (D) 550 pevumOL
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84. The number of sleepers required for constructing 500m long rallway track, using sleeper
density of M+5 and rail length of 10 m

(A) 500 wf 750

(C) 600 (D) 650

Grile ferd 10 15, griiig s SiLisH M+5 Beupenn vwern@RSSl 500 8 Qgraaeaise @ruid

unens iewéds CeamauliLiBib sk sC_asafler aarafsms
(A) - 500 (B) 750
(C) 600 (D) 650

85.  In highway construction, rolling starts from
(A)  from centre proceed to side
(B) from side and proceed to centre
W from side and proceed to centre and uniform ovér lapping

(D)  from one side and proceed to other side

ApHesanaa s_Duwrensdlo o @mEssd @)k mbs Qsm_dsiuGAns
Q) eowwsGan ydlmbs LssaT 4HE

B)  ussar ydmhg @wousHbe

©€)  ussen_yaimbs @wusdie Frmen Qungiiu@Su e

D) g6 usssESGEs =085 LEsEHHE

86.  Tie bars are designed to with stand
M tensile stresses (B) compressive stresses
(C) bending stress (D) combined stress

Qavanrs sbsaflen Crrsan
A &wu Qm&mm erdlit Qamerer | (B)  @iwss smame erdlir Qararer

(C)  euenera| gensees erdliv Qanerer (D) Qeeanps semsme et Aardrar
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87.  The value of the dismantle property at the end of useful life period is known as
M scrap value
(B) salvation value
(C)  junk value
(D)  consolidated value

o Qersder spuarapy bsden Gfsstu L Qansder w0l ereg) .
(A)  ergpdlu wHiy : “I
B)  Caiyps whiy |
(C) zLbswdiy ;'q

D) Sl wHiy

88.  When a property is sold at a lower price than that of an open market rate is known as
(A) assessed value (B) replacement value
w distress value (D) book value

shang cfleamud Gopauns oy Qsrsden wFouras)
(A) ot ooy (B) wmrhm iy
(C) Csunps iy (D) s wHiy

89.  The Height of extra quantity of earth filled is known as
settlement allowances
(B) additional settlement
(C)  extra height allowances
(D) © embankment allowances

SjeTeyESSSDTET LS5 Wwerenflam 2 WD erenLg)

(A) wfeysarerg

(B) (s SjniesEsmeansg
©C) &bz n_u_m;sil;i)asnswg
D) sfa@Es Horeand
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90.  The following are the types of
(1) Plinth area method
(11) Cubical content method
1 (iii)  Cost Index method
(iv)  Bay-method

(A) Detailed estimate {Approximate estimate
(C) Supplementary estimate (D) Centre line estimate

() serugiy apenp

b (1)  ser erey (padm

(iil) Qgrens @GOG apenm

(V) unsdl gpenp ~ e Gsen auanaseT

(A)  elfleurer wHISE (B) Camymu wdini@m
(C)  miemenr HUSEH (D) ew&Cam’ @ wAUSEH

91. The maximum slenderness ratio for a steel tension member is
(A) 100 (B) 200

" 100 (D) 500

Bueilos 2 piisaflar oiflsu’ s Qe edsih
(A) 100 (B) 200
(C) 400 (D) 500

92.  Which of the following is the most accurate estimate?
(A) Plinth area estimate (B) Cube rate estimate
M Detailed estimate (D) Building cost index estimate

lemeu meuameunmieT 618 miairanti wHISE
(A)  sarupiy wHNSE (B) serels wdHus@
(©)  effleures LHNSEH D) sy GOSECH wHLSE
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93. If the activity A proceeds B, but succeeds C then network is

MR OENOE NBECEO)
® OO0
© ©@-S50-H0-40

v ©-BH0-20-%0
B-ég pen C-@ ein 2 siren QawicbLin® A eréing)
® ©-40-30-50)
® (OO0
© ©O©-S50-20-40
» OBOHE--E

94.  The out-turn (or) task for (per day, per person) brick work in cement mortar (or) lime mortar

in arches
(A) 1.25ecum (B 0.85cu.m
w 0.55 cu.m (D) 0.35 cum

om wellgailean @ BT Qemisd Gaume FAQT. S@wg Famammdl Qenemriiuirenansd Camrea(
cuaneney&eT SL_(HbGLITE Gldialare) @b

(A) 1.25cum (B) 0.85cu.m
(C) 0.55 cu.m (D) 0.35 cum
95.  The carpet area of a residential building may be of plinth area.
(A) 15% to 30% (B) 30% to 40%
(©)  40% to 50% P 50% to 65%

silg L dlen 2_arger LT erenLigl QeuefiLipinen Geicuarey sgeishb 2 @tb.
(A)  15% apse 30% (B) 30% apae 40%
(€)  40% apsé 50% D) 50% apsi 65%

CECV/18 : 38 <



-

96.

Match List I with List II and select correct answer :

(a)

(b)

(c)

(d)

(A)
(B)
(©)

TList =1

Earliest start time of duration successor 1.

activity minus earliest activity in question

Time available for an activity performance 2.

minus duration of the activity

Excess of minimum available time over the 3.

required activity duration

Difference between total and free float of activity 4.

(a) (b) (c) (d)

1 2 3 4
1 2 4 3
2 1 3 1
2 1 1 3

List - IT
Total float

Free float

Interferring float

Independent float

ugwied I g uiguie IT o Len Qunmpsdl sflwrer eflen_enwd Conb0sHé&sayld

(a)

(b)

()

(d)

(A)
(B)

- (©)

(D)

U g uwie— I
WenGgm_irélp Qeweller s Fafyb L,
< rb96@D Crrsdelmbe Cadrefufa o drear
Sadlyons oMb As@b Aewdlar sre Sjatamel &flssa
@@ Qawana Caegn@erar srasdlear earailadmHg 2.
2w (pig.bss CemailiLib sragmss silssn

@ODHEULE SlenLE@GD snasdlehha Gauma 3.

Wiq.&8 CoamauliLb sragsms slGsa
am Qawellar Qurgs SiLsas58DE0 &_LDD 4.
2L &a55D@ED G Cuiwrear Caumumr®

(a) (b) (c) (d)

2
2
1
1

I e
= W s W
W s 0

39

uguied— 11

Qwrss &b

STPIET |L_&&LD

GSED SL_&HD

saflssa 2iL_GHD
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97.  Minimum crushing strength of an ordinary brick used for civil Engineering work should not

less than
(A) 4 N/mm® (B) 4.5 N/mm*
W 5.0 N/mm* (D) 5.5 N/mm*

Gyemols durBlullue CoimasEnse e gab aupssora Qsmshdlen GonbauLl s BaseE Hper
(A) 4 N/mm® (B) 4.5 N/mm*
(C) 5.0 N/mm® (D) 5.5 N/mm”*

98.  Thumb-nail and knife scratching test is to determine

M Hardness of stone

(B) Toughness of stone
(C) Strength of concrete
(D)  Durability of concrete

slen Qumellyé pab womb s58 Hymiliy Cergmearn ergnars GamwiuRng)?
(A) sadlar syadsamenio |

(B)  sadlen Qantiandsamaio

(©) spasrerguien Hmoen

D)  spareyullar By ssmpaEh Semenn

99.  During cement manufacturing, when clinkers are formed, kiln temperature approximately
is
(A)  1200°C (B) 1800°C
& 1600°C D) 1300°C

SEwerr o HusHulle o mEsThsd o Haun@bGurg @eameruiear QaliuBlame
(A) 1200°C (B) 1800°C
(C) 1600°C (D) 1300°C
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100. Corrosion resistance of stainless steel is due to
w Chromium (B) Vanadium
(C) Carbon (D) Sulphur

Sy sans orssfar siflorer @iy seenind @ STyammomans) erg?
Q) ECrmilwb (B) euCeanmig.tid
(C) amiuen (D) sHsaEw

101. Drag lines are used to excavate
(A) Hard earth below ground level
W Soft earth below ground level

(C) Hard earth above ground level
(D)  Soft earth above ground level

@upemais Cardsar agmen Coram.. LiwenuBHElamen?
(A)  sonolLsdne 6 sy.anoner wemena

(B) semwlLsdne ECip Coemeniowme DaETen et
(C) sarw_L 580G CoCe sigeaoner Lsbenemt

(D) soywlLsdng Culea Gueneiowirer aiTen G

102. A continuous growth of the building along the main through face of the city is known as
' J Ribbon development (B) Urban sprawl
(C) Green belt (D) Boulevards

pEnh  apupeudaid sa@owrar afissLsdar  @Q@UDSEHRID Qgmi&fluing S LBIs6T

2_(meumeugen Guwii
(A)  fAduer eueridd - (B) per pridlearenio
(C) usew L e D) 2z @ey sTen@sET
S ' 41 CECV/18
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103.

104.

105.

Brick earth contains major quantity of

M Silica . (BY  Aluminium

(C) Caleium (D) Magnesium

Qemime weamenfléd QupbLTETEWITS 2 drar QU erg|?
(A)  SAdar (B) <giflefiuwn
(C) ardfuud (D)  Qusafdluin

If ‘P’ is the standard consistency of cement, amount of water used in conducting the initial

setting time test for cement is

(A) 0.60P | ' (B) 0.65P

(©) 080P 7 085P

S g uflen Hlenaowmen sALLL G eumbd semens P erafld <ynbu @mie Cenpmarasten fen oieray

eTg?
(A) 060P (B) 0.65P
(€©) 0s80P (D) 085P

The approximate ratio between the strength of cement concrete at 7 days and at 28 days is

1 1
(A) 3 (B) 5
2 3
i ™7

B 1y sparemulilen 7 prer Snaydeis 28 prer Spais@in o arar eS8z crénan?

(A) (B)

(©) (D)

Wl |-~
= =
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106. Match List I with List IT and select correct answer :

(a)

(b)

()

(d)

(A)

List 1

Excavation and moving
Pure excavation

Pure transportation

. @By 3
v i

(D)

Pure hoisting
(a) (b)
1 3
4
3
4 3

(e)

o

S V)

(d)

o

List 11
1. Derrick
2. Dump truck
3. Power shbvel

4. Scrapers

Lnliguied T ioppin LJI._lq.UJG'\; IT ey Quinrsgis. sflwnaras Camey Gais.

(a)

(b)

(c)

(d)

(A)
(B)
(©€)
(D)

o g I

Garam(Hige LHHID FETHHIHD

Camam (HZed L (HLD

@LbEuwTsse L (b

THHSD LL-Gid

(a) (b) (©) (d)
1 3 2 4
3 4 2 1
1 3 2 1
4 3 1 2

uagwieo 11

1. Q@ufs (Derrick)

2. LU igrs (Dump truck)
3. ympe senflsdl (Power shovel)

4. eunflser (Scrapers)

43 CECV/18
[Turn over



107. Select the number of type of construction according to fire resistance properties as per
National building code of India

W 4 ® 5

€ 6 D) 7

@rdwu Codlu s Buragdeaniyg, Geulin ety uarmysmes QuIpss sCPorasns Tssman
amssens Gaiey Claliwemb?

A 4 B) 5
(C) 6 M 7

108. In geodetic survey, all plumb lines are

M Radial (B) Continuous
(C) - Parallel (D) Perpendicular

Yetlenit siereneuuuiciicr sienensg s L &Gand CamBes eniilig il L eeu?
(A) ypaCarBeer (B) Qsm_isfluraremey
(C) Q@eemuramaney (D) Qeragssreree

109. In compass traverse, the fore bearing depends on
(A) the extent of area to be surveyed
(B)  the direction of true north

™ the direction of progress of survey
(D)  the direction of magnetic north

Sevswrall Gmis@LmEsd apern simie Carambd sl QUINSSS?
(A)  wereney Qeiuwyb Lri9en ellsTasms QUINISSS)

(B) oamawwner euég Hens

©) e apanCGann Heas

(D)  aps euLsdlar Hans
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110. In tacheometry, the distance equation D= KS +C is applicable, only if

@A)
T
(©)
(D)

line of sight is horizontal axis
line of sight is perpendicular to staff
line of sight is inclined at 45°
line of sight is parallel to horizontal

CL&CanQulfM¥e Qsree sweur® D=KS+Cg uCurg vweunl(ég o056

QareTaTamn?

A)
(B)
(©)
(D)

A

unireneusGar(® SenL 1ol L ors B mbSTe
unfieneusCan® wiL &Csng s QemEGssns Q) HhsTe
unireneusGan® 45° smleuns Q)(HHSTe

unireneuaCan(d SenL ol L sHD@E R emenTiins @) [HHSTe

111. Tacheometric surveying

(A)

" s

Eliminates error (B) Eliminates curvature effect
Eliminates chaining (D) Eliminates refraction effect

CL5CaGlL Mé Daraaiuduc Spaam_euhmier crens GalEng?

(A)
(©)

Qenpasear gelliadms B) amaGsar { dlmarmal sallréEfng)
srddlwinssma 6llisHng D) galdlesd almereme gelliadnsl

112. Face right and left observation in theodolite survey, controls error due to

(A)
T

(©)

(D)

Non-parallelism of line of sight
Improper graduations
Instrument not being centred
Improper permanent adjustment

HAGunCLrear. ermauiudde, @ear  awg, Qrs 2onCrrésd agamme  Sampaul

sLOUUOSSEDS?

(A)  unieneud Caniigen Qanarruildens seenio
B) opwupn CarBsaf

(C)  smei enowinns GOOTSS

D)  apepwudp HbsT HnSs0
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113. EDM stands for_
Electromagnetic Distance Measurement
(B)  Electronic Device Measurement
(C)  Electromagnetic Device Measurement
(D)  Electronic Digital Measurement

EDM erénigy) erangés @ hlédlma?

A) e snps Aerenwe jeres ()
(B) Wermenam smeil oiemal

©) Hemsmps snser siarel(

(D) en Gass eraip

114. Hook’s law holds good upto
(A)  Upper yield point (B) Lower yield point
Elastie limit (D) Plastic limit

ap O efldl @ g cueny penmns o drang
(A)  Cwé QApdlpay Leref (B) &p Qpdlpey Lyaref
(©) Brflufwe erédrena (D) QpAf ersvemen

115. Shear stress on a principal plane is
(A) Maximum (B) Minimum
Zero (D) Maximum or Minimum

SO (psemeno satsHle 2 drer pRIEEGE Smae
(A)  Qugwibd B) Ao
© &f (D) Quepod @z Hyiobd

116. The bending moment on a section of a beam is maximum where shearing force is
Zero (or) changing sign (B) Minimum
(C) Maximum (D) Any value

20 dlLjfar Qaulye aumadmiyms AU Serans QDméEwtungy pnée Neswurearg

el @l m&ELn?
A) s s @ oo (B) Sy
(€) Qumwbd (D)  gCGsayd g Ay
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117.

118.

119.

The bending moment diagram for the case shown in figure below will be as shown in fig.

W W
v \’

1

e a —k—— 3a Ste—-a->]

e N g 2 AN

© /\\/ D) \//\

uLgdle GarGssn L efl L sfler cuaner Sl(HLILED LILLD 6T8)7?
W W

y y
(¥ i

le-a ——— 3a e

@ A & & =N

&7 /\\/ " \//\

Design of shaft made of brittle materials is based on

(A) Guest’s theory (B) St. Venant's theory
Rankine’s theory (D) Von Mises theory
QArroikiEih sarabwjeul GLITHLECTT ZLET SERTq.ET eTHeT 2jig Ll Uil auigeiemLOLILIZ?
(A)  sevyen Qanerans (B) yafls Qeuennen Garerens
(C) Gpanensen Qarerens (D) eurendevev Qararans

Which one of the following method is convenient for determining deflection of beam of

non uniform flexural rigidity? (
(A) Macaulay's method Conjugate beam method
(C) Moment area method Double integration method

Erom euenaren allenmUidenan Asmeawr el L Gdlar cllwsssms srawr gnHm (pen SPHTL 6uDHDIET
GTEH|?

(4) QusarCGa aperm (B) Q@lenewr &l apenm

(©)  Smliyenn urly apeon (D) @ria Qsr@li pann
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120. A simply supported beam of span L carries a concentrated load W at its mid span. The
maximum bending moment M is

W WL B) WL

4 9
WL WL
© 8 ®) 12

L femb Qaneir erafigmmidl el sflan enwow B sHd W eranp erall Lign Qewdum_Lme siger
Quimio giener Hpiijeno M erenen?

WL WL
) B) ==
WL WL
b T =

121. A simply supported beam of span L carrying a uniformly distributed load of w per unit run
over the entire span. If £ is the Young's modulus and 7 is the moment of Interia then the
maximum downward deflection will be 1

Lfi w L3
Ay = B
B LEr (®) 3EI
I8 5wl
C z
© A8EI 384 Bl

e L pend Qaram erefismidl el sdn Ba apep SLLsdpen w/siwe foib Qsrer. UDL ™
GewaduLre, E = wkigarsn, I = flaaw iy Sner arafild, ol Lsder Qumo efladast erearar?

wl? wl?
@ JE ' ®  3E
L2 - 5wl
c w
© 48ET ©) 384 EI

122. If the normal cross-section A of a member is subjected to tensile force P, the resulting
normal stress in an oblique plane inclined at angle “#” to the transverse plane will be

(A) f-sin2 ] (%cof ]

A
P .y P 3
(C) A sin” @ (D) 5h cos

e e-gudlen GnisE Qe @ urtiy A. siger Bz P eaanp Gpellans Qswou®fpg). Qongssi_en 0
erem smiiey Gareir_ smieuren sensdld o drer Qani@ss smse, eraren?

(A) —sin®@ (B) —cos®@
P L P

C) ——sgin? 2 oat

:( ) 5 sin” @ (D) 5 cos” @
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123.

124,

125.

If a circular shaft is Subjected to both torque 7 and bending moment M. Then the
equivalent bending moment M, is given by

[ar2 . 72 2 m2

JM‘.‘:M—’- 1‘24+T (B) Mt=M+ M‘_.;T

© M =M- M*+T* D) M _M-vM® +T*
e 2 ¢ 2

@ el L s gamgen 5g aener Hmuain M b, wpmiée Tb Geudu@deamar. eraflé) swrer aiaar
SHmtigenn M, eremen?

2 2 : 2 2
(A) M3=M+M24 +T B) M.=M+ MT+T
2 2 2 2
© M,=M- % @) MC=M“M; +T

Strain energy theory was postulated by
(A) Rankine (B) Mohr
(C) Tresca w Haigh

Sy @ pmed Qarerens ardledl(mbg aumeldsLIHHDS?
(A) Grenenaen (B) Guomir
(C) ¢ Quevan D) ean

A perfect frame should satisfy the relation.
(A) m=3;-3 B) m=3j-2

© m=2j-4 o n=2j-3

@ sflwrer s L_sb Spasan_ aphsg sweam e Hlapey Qe Cauar(in?
(A) m=3j-3 B) m=3j-2
©C) m=2j-4 D) m=2j-3
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126. Well conditioned Triangle is related with
(A)  50° 40 o 560 14

(C) 60720 (D) 66° 15

@ Hlenaiu@HsuLL L pa&Carad aTea e QST e 1Lg?
(A)  50° 40’ (B) 56° 14
(€) 60°20 (D) 66" 15

127. A suspension cable, supporting loads will be under

(A) compression

\{ tension
(C) bending

(D) compression and bending

LI@REEMET STBIGLD e QBMhiE UL erGungb a1hs eflensenws aram® @mesEin?
A)  2wss
B)  @upellens eflenpiiL

(C) cuemearand

D)  SiEEE LHDID uMETEMLD

128. The moment distribution method is formulated by
(A) Thomas Young (B) Kani
(C) Mohr ‘m Hardy Cross

SmULenid LFeue penm eTHam g UiLienL ullé o (meureng)?
(A)  smoev wk (B) sai

(C) Guomr (D) aong Syrev
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129. The greatest eccentricity which a load w can have without tension on the cross-section of a

short column of external diameter D and internal diameter d, is

Dz+dz DZ_dZ
8D (B) 8D
D* +d® D?+d?
C z(D"+d")
© : 8D (D) 8z D

Geveflell b D wpmib e areil L b d Qanar. GnéGHa(d Aaran. om GLors safld e
w =8 QmEEn Cung 2fld Gupeilans @adamod Bmés Comanmar Qum @wwii9phe, ereren?

D? +d? D —d*
@ == ® =5

7(D? +d*) PP gt
© 8D ) 8z D

130. Drops are provided in flat slab to resist
(A) Bending moment (B) Thrust
w Shear ' (D) Torsion

UL e L1 LssSld Spaem_ arens STH@Gasnans Qnsatadr QsrRasiiuBdamen?
(A)  euener Hpliienio (B) =ipssd
© poée . D) wose

131. The place, where aircrafts wait for take-off is
W Holding apron
(B) Ready apron
(C) Hangar
(D) Reserved apron

eflorenmigar uPLILGHE SWITTs BlHa&saqw @ gder Guwi
(A)  Qghlee @b

(B) swriflene @L b
(©) ueflwener @b
(D) @gésiL_L @b
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132, Statically indeterminate structures are also called as
(A) unstable structures

(B) serviceable structures

“ redundant structures

(D) determinate structures

Hlevey seTEdlLd SenepLow|aTer L @WIILSET cTelaIm enipdsiiuiBdlamen?
(A) Hevewpo s L_emoliser

(B)  uenfl Qawiuyib L enmioliyseT

(C) Sengenio s L_anoliLser

(D) sawadBserenn Qarar. S ebliL|sear

133. The degree of static indeterminancy of the beam given below is

NH’mge

PSR
gl s G one

(C) two (D) three

uLgdler Qar@asatuc L ol L e Hene samadlrsgeananowlian sieray eramen?

NHinge
S Ly,
@A) & (B) eem
© @i D) operp
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134.

135.

Find the reaction R of the propped cantilever shown in figure

e e
Q JAN
P ! /]: R
/1
wl 3
wl 5

uLgdle sm G Berer apl® SimdE LSl ghu®b erdlitellens ‘R'enws sewr (Bl

w/m

1 "~y

% 5

L L /t R

4 A
(A) ‘%‘ ' B) -:-wz
© ‘%’ ® 2wl

In moment distribution method, the sum of distribution factors of all members meeting at

any joint is always

A) 0 (B) lessthan1

f 1 (D) greater than 1

Hmpliyeno Lgeud apenpule, é@ yerefiufley sbflé@n smass 2 niysafier Liraud sryenflsefler
Bz eriGungib eTgieuns @) mHaEELID?

(A) 0 . _ (B) 1&@ @opeuns

e 1 D) 1lé sdswons
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136. The positive and negative shear force (kN) of a given influence line diagram shown below

c -
t B

bm 15 m

0.75 \

1025

100 kN
At

(A) 75,50
(B) 75,75
% 75,25
(D) 25,75

uLgdler Qarpasuuc L urduysGasm @ uLgdler Comoap wWHHIL eadliwan pnis@Gelams (kKNe)

GTGUGUETEY?
00 kN
A ["c S
 5m 15 m
0.75 \
- —Jo.25
(A) 75,50
®) 175,75
(©) 175,25
M) 25,75
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137. Which of the following method is a displacement method?

(A)
(B)
(©)

Column analogy method
Three moment equation
Euler’s method

x Moment distribution method

GeraumeuaneuHmieT erg @LLGLWITES (penm?

(A)
(B)
(©
(D)

Sliewr 16| 1penD

. @EH@UL@L s

il apenm
SmLiLjento LFeue Apenm

138. A fully saturated soil is said to be

(A)
(B)

(D)

one phase system
two phase system with soil and air
two phase system with soil and water

three phase system

@ whfl@)b Cagbllw wer ereuaurm smpasliu@ang ?

(&)
B)
©
D)

139. The ratio between volume of voids to the volume of solids is called

( void ratio

air content (D) degree of saturation

©

arphlen.Qeuafsafien sar Sjeras@Eb, Sampmsalen sar 2o &E@Lb o erer el sn

(A)
(©)

gnenm sl L Qgr@i
LoeiT Hmb Erhenp Qarar.. @l sl bsmEiy
wer wHmb Heory Aarar_ @r_am sl L AgnEly

s L QgmEliy

Leny el dgid (B) yengenio
STHD a6 D) By Qe sieray

55

(B) porosity
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140. When the degree of consolidation is 50%, the time factor is about

W oz B) 05

€ 1.0 D) 15

2i(phge eray 50% arafled, Crrs smyenfl eremuig
A 02 (B) 0.5
© 10 (D) 15

141. Which one of the following statement provides the best argument that direct shear tests are
not suited for determining shear parameters of a clay soil?

(A)  Failure plane is not the weakest plane
W Pore pressures developed cannot be measured
(C)  Satisfactory strain levels cannot be maintained

(D) Adequate consolidation cannot be ensured

Crry pmisE Congenan, seflweimgnise Aunmssilame, gQearafie
A) e mésgeowa) send g Hlbhs Semb 0w

B)  ghulL ger cllessmar siarellapiqwing

©€) Caomawren iy Hewew Hlaowliu@ss apigung

D)  Gurgiorer Sy’ @ e pHwdHms

142, Soil pressure distribution below a rigid footing on the surface of a cohesive soil is
Minimum at the centre and maximum at edges
(B) Maximum at the centre and minimum at edges
(C)  Uniform throughout

(D) Maximum at one end and minimum at other end

saflweair 155 efleopliiy smLssme o arardgsale, G wear 2i(pss elleud eraig
A)  evuiueHda gmparseb olleflibifd siflsnreb @méEn
B)  evwiugHule sifsorseb alafibiGa Gmpeaurseb G msEwb
. ©) &rs Qméad
M) emypoanis sfswrsab wpapameanio Gaparsea|b GmoEEid
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143.

144.

For reinforced concrete structures supported by isolated footing resting on sand, the

maximum permissible settlement as per IS : 1904-1986 recommendation is

(A) 75 mm B) 60mm

(C) 40 mm | " 50 mm

IS : 1904-1986—a1 ulg safl s@LsETOTD STRSUULL 6@ SDSTEN MO el
Bd@0hCUTg), S@indléaliu’ L SPhis eTerLg)
(A) 75 mm (B) 60 mm

(C) 40 mm (D) 50 mm

For getting undisturbed samples in soft and sensitive clay soil, the most suitable soil

sampler is
(A) Open drive thin-walled tube samples

(B) Standard-split-spoon samples

J Stationary piston samples

(D) Thickwalled samples

Quenewwren wHmb oariefss sdvaraid warordfl a@ss Waayb o&6s wear wrH
GesflliLinen 8)5) <460

A)  Hobs apemensenar o @i Godalu samamiw wer wrFfl Cesfliumer

(B) Qspdly Qereyu@id weir wrdfl Caafliumer

©) flerawmrear o pH Gas.rraﬁm_ wewr ordfl Casfluimer

D) 558 seumemLw warordhil Ceafliumen
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145. A soil sample is having a specific gravity of 2.5 and a void ratio of 0.5. The water content in
percentage required to fully saturate the soil at the void ratio would be

(A 25
B) 25
(G 5

Mzo

genafiiiy 2.5 oppd yemreldsn 0.5 g Qsram. wanordiise fon Qsfla Bowses oy
Caenanumen Bl jeray eremag

A 25
(B) 25
© 5

(D) 20

146. Wear of rails is maximum in

(A) tangent track |

M sharp curve
(C) tunnels

(D) coastal area

2ifls erey Caiorend eps gs&rt_euﬁmg,ﬂw B mEE0L?
(A)  Crcimgen_ sam_eurarll Umeng

(B)  sapmen UyeueETLIPETET HERTL_UITETL! LITEHS

(©C) ©Ems sewUGare SarLeurenl LTS

D)  sLpsmrsEE simpdl@idrer e _surar LTS
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147. The modulus of volume change or coefficient of volume compressibility is defined as

y the change in volume of a soil per unit initial volume due to a unit increase in
effective stress '

(B) the change in volume is proportional to the change in effective stress
(C)  ratio between change in void ratio to the change in effective stress
(D)  ratio between change in effective stress to the change in void ratio

Qanerenena WOTDHD SemeaLn ércisrugj :

(A)  eretey LW F@EE] LTHDESTE HLHILD Werrenflem LiHLOaTETE LTHHLD
(B) Qarérereray orHmnmeng L) SmaEas@ Crirelldlssdld @) msdng)

(C) peambeaafeldls wrHpsSHHEd LLIEIHSMEaEEW 2 drer aflflgh

D) vwaim swse LIDDESHED Herbeaflelldls wrHDsSDHED 2 erer elldlgd

148. Undisturbed soil samples are required for conducting
(A) Hydrometer test
* (B) Shrinkage limit test
W‘ Consolidation test
(D)  Specific gravity test

a_@é@cu_;a)wrr wenrorSlfl ecremug @hg Cangemansa Gg@mﬁy@eﬂ;pg
(A)  Biwwrefl Carsenen

(B) amiE e Csmgenan

(C) Sy’ Hevaw Cangenan

D)  sw Hlep Congenen

149. Minimum size of the solid particulates that can be removed in a settling chamber can be
calculated using

M Stoke’s law ' (B) Darcy’s law
(C) Henry's law (D) Newton's law

gl @5¢&mm'@ﬂuug¢@. 2ABET GPDHSULE SieTanel Glounemns Qanar(h) seamédianb
(A)  ewGméen el (B) vLniél fld
(C) Qape efidl (D) Pyl er g
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150. Human beings are most sensitive to sound oscillations with frequencies between
(A) 100 - 1000 eycles/sec
(B) 200 — 2000 cycles/sec
(C) 300 - 3000 cycles/sec
w 400 — 4000 cycles/sec

@l sjarey @eueumy ElmEEnLCLNg waflsisear LnHsstLBHpmiser
(A) 100 - 1000 cycles/sec
(B) 200 - 2000 eycles/sec
(C) 300 - 3000 cycles/sec
(D) 400 — 4000 cycles/sec

151. Which of the radioisotope affects the entire body tissues
(A) Todine I'* (B) Strontium Sr®*
M Sodium Na*! ‘ (D) Cesium Cs'"

2 L oQedmmer LrdéEh Crg CungCsnGLi eremug
A  SGumgen ['M (B) evGrmemguip Sr*
©)  Gemguwid Na | (D) EAwip Cs'

152,  The minimum size of RCC manhole cover in a sewer system is _
(A) ° 30 cm diameter (B) ‘40 cm diameter
M 50 cm diameter (D) 100 ¢cm diameter

uQETD  GPriseE, Guresstiu@n sflumtuy famdlar ol ALl sperar apiaulen
GODHBULE eTey CTEIS)

(A) el 30cem (B) &l ib40em

(C) &flliib50cm (D) &b 100 cm
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153.

154,

155.

The filteringr media of stone ballast or brick ballast is used in
(A) Intermittent sand filters

M Contact beds

(C)  low rate trickling filters
(D)  High rate trickling filters

s (2i0) Qeisd LB @sEd LLEUEDb ey i
(A)  BOET e auigsHLly

B) Qsriyupens

(C) smpHlene auigsi_ig

(D) 2wiflee algsi i

The water which is not chemically pure but does not contain anything harmful to human
health is called as

(A) Pure water (B) Dastilled water
(C)  Drinking water . W Wholesome water

wafls 2L @i&@E Siie eSlaerell&ans smgneanT Sawrentt aremis) |
(A)  aggwren Hir “(B) eameneeauy B
(€) @b (D) Qurgs Bir

‘Mathemoglobinemia’ disease to children is caused due to excess presence of

W Nitrates

(B) Nitrites
(C) Free ammonia
(D) Albuminoid nitrogen

GphesaEsiE BsHCrEGamidisliur’ Cemi @a dswors @@Jugmfo umADg.
(A)  ep CGriey

(B) eplenyiav

(C) owCurefwmr

(D)  pdySienmis enpL yege
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156. The limiting value of cant gradient for all gauges

1in 360

(A)
J 1in 720
(C) 1 1n 1000

(D)  1in 1200

Taereuams sjare| @Huranguilgn Caen smi wi L kiseflar sieTay ereuaiaraurs @) ma@En?

(A) 1lin 360
(B) 1in720
(C) 1in 1000

(D) 1in 1200

157. In a singly reinforced beam, the effective depth is measured from its compression edge to

(A) tensile edge

M tensile reinforcement

(C)  neutral axis of the beam

(D) longitudinal central axis

Cuoouss a0l eder @m efllLsfld L@ SPo aaug, upss daflbGdmbs @aeuanr
el LB may.

(A) @uellans LEH elafiby
B)  @ueias 509 LEHsar
(C) el enow &

(D)  ewuw Hear oiFs
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158. Web crippling generally occurs at the point where
(A) bending moment is maximum
(B) shearing force is minimum

W heavy concentrated loads act

(D) deflection is maximum

Qurrgieuns @enamiiL| H50 2 (HEGmeaay BL &G LieTafluiled
(A)  Amuyeleas dawns Gmesn

(B) pms@eias Gompeurs QHEEWD

(C) =fQsfaprt it L@y Qaudu@d

D) aumara) Sfanrs @) HEED

159. The minimum pitch for bolts as per 1S:800-2007 is
W 254 B) 3d
© 35d | @) 4d
where d — nominal diameter of bolt.
1S:800-2007 e Ly yerfla@nsdlan Cuwrer yflufla gD erenug
(A) 25d (B) 3d
(C) 3.5d ‘ (D) 4d
@8 d —syefl efl 1 th ‘

160. Gauge of the bolt is the distance between two consecutive bolts in

w the direction perpendicular to the direction of load/stress
(B) the direction of load/stress

(C)  the direction at 45° to the line of action of force

(D) an inclined direction

@ran® 2058085 wanuraisersdea Cuwrar grb e SHETEELILILL T 215
wangwrefiufen auflenss siyb eran SapssiLBEng

(A) dens/zemsey Q.ELUG'DLJ@L'D Slensd Qem@ss Haos

(B) &g/ semsa) Qawau@ib Has

(C) oflens Qewau@b CamiynE 45° Carangdle o drer Slans

D) amenips Can@ i
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161. A partially pre-stressed member is one in which
W limited tensile stresses and controlled cracking are permitted under_ service loads
(B)  mild steel is used in addition to prestressing steel
(C)  no tensile stresses are permitted under service loads
(D)  limited tensile stresses are permitted but no cracking under service loads
u@durs apareuflensiLBSELLL L o mliy eram.sy
(A sereyar @apaflens wHmib s GUUESSLILICL Qaug.y
(B)  Blswrer el uwaLBESILHE DS
©) Budlens Hanwing
D)  ereyLen @upeflens, Qauig i sl

162. A simply supported pre-stressed concrete beam is expected to carry uniformly distributed
load. The tendons should preferably be

(A)  acircular profile with convexity upward
(B)  a straight profile below the centroidal ﬁxis
w a parabolic profile with convexity downward
(D)  a straight profile along the centroidal axis
B ypoagmdgidrer apareleans ghpLLLL spsrear AL b & UL L@heneu s Gung),
GUL_LD GTEMTLIZ)
(A)  Cuageia ér el L agaussd @més GaamBib
B)  @wwu sEsEE ECy Cprrs Qmés Couam®ib
Q)  Spmelayar saiguwr ueuanaruh

D) "~ emow b5 efiCu Gavarmuins @) més Ceuam(id

163. The decrease of stress in steel at constant strain is termed as

(A) creep i (B) fatigue limit
W relaxation (D) endurance limit

wimig Hfiueiled smaa; @mpLiy erarug

(A) B4 B) Qawss

€C) @b wrduw (D) apigayerirene
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164.

165.

166.

equation derived above the velocity head or the kinetic energy per unit
weight of the fluid.

(A) Euler's “Bernoulh"s
(C) Viscosity (D) Velocity

HawaGaus o wirays@ Cud (@) drausdar grag aaL Qués wHD@IsE HoLéEh swarun®
GTETLIg)

A)  ueie (B) QuiGereresav

©) urghlame (D) HensCeusid

Manning’s formula is used for the analysis of the problems of
flow through channels

(B) flow through pipes

(C) head loss due to friction in channel

(D)  head loss due to friction in pipe

Qeupdlen ugLLMUe&E Cuenefin‘ay swearun® 2 seydlng

(A)  sréeumi euy @t b

(B)  @emi el @b

(©) smeveumis 2 gmieilen G)pliLy

(D)  @emi egmiefler @iy

A flow is said to be when the various fluid particles move in layer with one
layer of fluid sliding smoothly over an adjacent layer.

(A) rotational
(B) irrotational

w laminar
(D) turbulent
@PLLID eTemig) arans ampuUBEng), eruGurupg aafld QesdCean Hraussefsar
PO 2AGE8TS pe®HLEUTE, @O ABEES Hreud FHEG SBsgIcTa SBES SrasSation aipsds
Qarenr(® GQawamsude.

(A) s el

B)  spopp grLb
(C) sas@aiges gL
D) ewmspp @rLd
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167. Which one of the following methods of application of water may be suitable for rolling land?
(A) free flooding
(B) fﬁrrow flooding
(C) check flooding.

W™ boarder flooding
spe Blesdn@ Spssar . wpapsafla ebs BiliLirsar (pemp SEHSSTS @ (HHEGLW0?
(A)  sspdly Qeuarans QuimES wpenp
B) wsd Aeuerers QUHES peam
(C) smHUY Qeusrars QALiEwsEE wpevm

(D) erévena Qeustarss GLimEE apenm

168. A sodic soil is having pH value

(A) 8.5 m >8.5

(C) <85 (D) <7.0
Gamg s weresflen pH wdiurens

(A) 85 (B) >8.5
(C) <85 (D) <7.0

169. A venturimeter is used for measuring

(A) Piezometric head (B) Total energy -
W Flow rate (D) Pressure

S(HEE Gmiwnel @Qlag 2jerés uweHEpg

(A)  2.wirey Hlenaw (B) GQunss 2nme

©)  umiey eis D)  <ipssd
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170. If wheat requires about 7.5 cm of water after every 28 days and the base period for wheat is’
140 days, then the delta for wheat is

@ 375em (B) 35cm

(C) 30cm (D) 41.25cm

GanginéE gadanm 28 prs@sel Ang 7.5 Gs.8 garatt Csma aafld whmib Carglemouler
S eflenar srewb 140 priser aafd Cangmwses Comeiwiren AL reflar iy

(A) 37.5Qs.5 (B) 35 Qs

(C) 30Qs.5 (D) 41.25 Qs

171. The protection works are designed for a scour depth ‘D’ equal to

Yu Yu
(A) ( o 0.5) (B) ( ol 0.6)
M (-y-"- + 0.6) (D) (y—“ - 0-6)
3 2
<2fuy <o D’ aanushE sGUY uerflureag Geieurg) augeumwESUILRE DS
Y .
(A) [ 3 + 0.5) (B) ( iy 0.6)
Yu Yu
©) ( 3 + 0‘6) (D) ( 5 + 0.6)

172. Barrage differs from Weir when
(A) major part by gates and minimum or nil part by shutters
(B) equal part of ponding by both crest and gates
(C) minimum or nil part of ponding by gates and major part by crest
w#  major part of ponding is done by gates and minimum part or nil part by crest

SHUIL| IDHDID SleneRt GeeuTpiTs CaumuBEpg

A) <ofs usd ssard Csésiudfpg, GEDHE UEGH OVE RO u@Hyb @demod
S LU CassliLBEDnS

A (B) oé& Hpid 56 pHwauppred swwrer UGS Cassliu@eug
©€) @EoDHs LGS AbRE GO LESLD QOO Sgaurd CasatiLBHng wHnL s LGS

o &8lwréd CassLBEDg)
D) s usd ssurd CasslLRSDS LHDIL GPDHS LGH ADDF RO LGS LD @eamoe
sgaund Csss0UHHDS
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173.  The study of fluid motion without considering the forces, causing the flow is known as
kinematics of fluid flow
(B)  fluid statics
(C) fluid dynamics
(D) forced vortex flow

g eflensuflented iy @b FapdnGsr obs eflosmu amsHd Qardranmod, dlreu Qusssmst)
LBl gy

Q)  fres umiley @uiés Hlevew

B) Sra flow 2Y(PEHSID

©) Ara QuiiEhloo

D) e spd Qussid

174. A float is a small object made of wood which is used for measuring
velocity of flow of water in rivers (B) velocity of flow in pipe

(C)  discharge in channel (D) discharge in pipe

wrsdlard yer Al Bgmea Goswenss LwamBaps
@) oo el Cussos ®B)  @pnis fla gl Caussoms
(©) sroaumi fir QeuefCuppd D) @wmi i QeueflCupmid

175.  The hydrologic routing methods are based on
continuity equation only
(B)  energy equation only
(C) momentum equation only

(D)  continuity and momentum equations

BAlwe wHUSEH weapsdr Qahan iglumL wirss QanarDararer
(A)  Qgm_iréd) swemun® w G

(B)  Swen swemun(® wL_{Hid

©) Qurig ales swerun( wL Hib

(D)  Agm_iéd wHybd GukiGeims soamrsdr
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176.

L7,

178.

At sea level, the value of atmospheric pressure is close to
(A)  1.033 m of water column
W 10.33 m of water column
(C)  103.3 m of water column
(D)  101.3 m of water column

s LS, aafl Sisssdlan siere GsnE <iméld @mésLn
(A)  pis grenflen siemey 1.033 m
(B)  His gnesflen sjeray 10.33 m
(C) g gnewflen serey 103.3 m
D)  fis grewflen sjera) 101.3 m

According to Kennedy, the silt carrying capacity of a channel varies with velocity raised
power

A) (B)

N o

(©)

W b=

Gaenany Camum ipen Lig, @@ srdamies ammd fluy g Hos Gaussdlen @bs LIg&E
wrmdlng

(A) (B)

Wit o=
oo oo

(©) D)

The rise in the maximum flood level of the river upstream of the weir due to its construction
is termed as

@A) waterway " afflux
(C) freeboard (D) retrogression

Siement HUL si_Borersdlen Gurg Guaouss Bir o winflew eramig
(A)  Freuf (B) WHens o wiiay
©€) Qe Qaaf (D) B @iy
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179. The intermediate sight distance for a highway with head light sight distance of 70 m is

(A) 105m (B)y 104 m

W 140m (D) 100 m

apsiiy eflenég i 70 8 2w ApHEHFTaesE, @ iulL urima I eeLig)
(A) 1058 (B) 1048

(C) 1408 (D) 1005

180. The value of mechanical widening for a highway of 7 m wide on a horizontal curve with

radius of 50 m, us;ng wheel base length 10 m is

(A) 25m (B) 1m

v 2m (D) 0.50 m

7 18 ssosmsLb, 50 B yrsosub emw AEEEsTEwEE Coamawnea Aurblliud sn
eranuig) (#6617 Slgbger Hemd 10 8 erafle)

(A) 258 (B) 18
© 248 (D) 0.508

181. The temperature at which ductility test is conducted is

A 25°C (B) 50°C

(C) 20°C , w 27°C

@ ees Gergemen @bs Geuiu Bleauie pss0UuGEDS
(4) 25°C (B) 50°C
(C) 20°C (D) 27°C
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182.

183.

184.

Track circuiting indicates the
presence of train on track

(B)  derailment of trains

(C) spacing between trains

(D) capacity of tracks

Qe urengé sHy ererLg s GHlEHDE)

(A)  ureguiie o drer ALt cueirly.

(B)  Qsmireueing L bLyE5H®

(C) @z euaimy s@Epédean Guwrer GenQeuef
D) @il urengufen Smer

Cruising speed of aircraft is

(A)  speed of aircraft with respect to wind
ﬂ speed of aircraft with respect to ground

(C) speed of flight

(D)  speed of pilot

eflonrargdlen seny Causib eramuig

@A)  smheap' Aurmsg elwrargden Caush
B) serewd QuIGkss elwrasddar Gousid
(C) eSwrarsHen Coustd

D) elwrafluiicr Caustd

Which system help the engine driver to observe visual signals and in case of his failure to do
80, to reduce automatically speed and bring the train to stop?

(A) Absolute block AT.C.
(C) One Engine only (D) Pilot guard

QAgmit euaimy. @URarm Urime slldmErau LMTEs SaumId ULsgdld aTHs UL Apenn
grenaCes Gaussmss Gonss QamLi cudmg o Hnss 2 seyfins?

(A)  smemiurer sHLIY B) .8

©C) @ epdnbd w'_Hib (D) e (e gei
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185. Which of the following is a semi natural harbour
(A) Mumbai (B) Chennai
(C) Kandla W Vishakhapatnam

EpsaamLeupmier ag LGS - @ubDams SlenpsD
(A) @pbenu A (B) Qsenmenar

(C) smewmrm (D) eSersliulgend

186. The main function of a fish plate is
To join the two rails together
(B) To maintain the Gauge distance
(C) Tojoin the rails with the sleeper
(D) To allow the rail to expand and contract freely

Ben s65L_q.a (Aygsmen Lefl

@A) Gmnidsamanyd Genanés

B) @ Ladfiow sés muss

(C) @riee s sl Cur® Gememnés
D) @ smisab ellfluan

187. The lengths of the standard crossings in India for broad gauge and metre gauge tracks is
same for

(A) 1in8% B.Gand 1in 12M.G.

(B) 1in12B.Gand 1in 16 M.G.
@ 1in12B.Gand1lin8% MG.

(D) 1in16B.Gand 1in 12 M.G.

QiSHureilsr e wpmid BrLi @ruie uressarse 0sbsT GEDIES e b sowrs GmUUg)
(A) 1in81 B.Gand1in 12 M.G.

(B) 1in12B.Gand 1in 16 M.G.
(C) 1in12B.Gand 1in 81 MG.

(D) 1in16B.G and 1in 12 M.G.
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188.

189.

190.

Wind Rose is used for
(A)  Construction of Taxiway
w Orientation of Runway
(C) Orient_ation of Taxiway
(D)  Orientation of Terminal Building

STHD eueL_LgD Gaupemn Siewésts e Gdng)
A) @eemiy Sar aufl

B) 06 gomd

©) - @eariiyssear auflulicr Have

(D)  eflwrer Havew s g Hae

Dry dock is meant for
(A)  Carrying out dredging of operations
(B)  Carrying out training operations
W Carrying out minor repair works of ships
(D)  Carrying out major repair works of ships

2 @i uaflaer @ sne LiwerBéns
(A)  gnireumapid Lewfl : (B) uHAG Lef
(©)  studer Ay Ls Bé@n Lenf D)  slulen Qum LS BaEb Lenf

Working out the exact quantities of various items of works is known as
(A) estimating (B) mensuration _
(C)  valuation Mquantity surveying

ueGaiy euenswirer Lienflaaflen gdallwiwnmear a&m&mm samédl(Houg
A) 25Css 0HLSEH : B) 2@ erGwe
(C) wiidGse D)  sjearey SerawandHsea
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191. Sinking Fund Co-efficient (Y,) is

i

(A)

£ (1+1)
wy =
© e -1
An-1
© ¥ =8

4

O Y =@+

Geihs Azrens (Y, )’ eramuig)

i

A Y. =

@ @+

(B) Yc=‘.—i_
(1+i)" -1

© e

4

@ Y. =@+

192. The total cost of the project depends much on
(A) Area of the building
(B) Specification of material
(C) Specification of labour
w Specification of both material and labour

AL sHen Aongs Agnens arenugl Qesls QUrmsiaTeng
(A) slgL ugoy

B) Qunm sefler semeil

(C) Qsrflerarisafier searei@

(D) Qurmaser wpmib Aemfieraisaier el
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193.  If cost control is neglected in construction management it will result in
(A)  profit to the owner of the project
(B) increase in the profit margins to the contractor
M reduced profit margins to the contractor
(D)  no change in profit

sLBurar Coaranamoulo uarss  Guumn_ m ssdell L md G Hlaqpd
(A)  Game o fawwrermés @eomib i

B)  @uuBESTIMHES GeTuid

©)  @UuUBEEMIHEES peiyLLb

D) @erugde wrppdaene

194. Bar charts are suitable only for
Minor projects (B) Medium projects
(C) Major projects (D) Huge projects

umt euenyuLLD @euniln@ Aummbsid
@A) Adw uenfls@sss B) phssT ueflsErés
O)  Quiflw uerflla@sée D) VaeuQuilu vefsesss

195. A Dummy activity .
(A)  has no bearing on the network and can appear any where
(B) has only head event but no tail event
(C)  has tail event but no head event
M neither requires any time nor any resources

2 geum Qe eramuig

(A) el abs aeranib Qaras masng Cogib @g eriiGsuwb eiyed
(B) BspE wearame Hlape) o drarg e Garamed Hape; Gaoame

©) @sneE Gerame fape o drerg e e Hlapey Gdama

D)  @snE Crrtur sdwag aemisGarr Cameauidama 7.
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196.

197.

Mateh List 1 with List II and select correct answer :

List 1 List I1
(a) Activity 1.  Resourless element
(b) Event 2.  Resource consuming element
(¢) Dummy 3. Spare time
(d) Float 4. Instantaneous stage
(a) (b) (c) (d)
A 1 4 3 2
B 2 1 4 3
Cc) 2 4 1 3
®» 3 4 1 2
uCiquwe I g utgue IT o 1 dr Qurmsd sflwren cilenamwug CompbsHésaun: <
uguie I g IT
(a) GQeweun® 1. esmr @iy
(b) Hapey 2. S4FTID 2L GaETeT Denioliyy
(c) Gewenng 3. o Ll Guyb
(d) geneu 4. oLang flew
(a) (b) (c) (d)
A 1 4 3 2
(B) 2 1 4 3
@ 2 4 1 3
D) 3 4 1 2

In time-cost optimization, using CPM method for network analysis, crashing of activities
along critical path is done starting with activity having

(A) Longest duration (B) Highest cost slope
Least cost slope (D) Shortest duration

e am Came uguumieis, CPM gl uvwdau@sd Gsaa-Corb e b sTETUSHE PR,
uremgle @m Qsume Qprpss Cauardn eafle Gmss Qsran@erer Gewdlb Qmbs
Qam_misuu@Epg).

A) s sre emey (B) zwiQgrema aflay
©C) Gonbs dsrams afley D) Enduare jarey
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198.

199.

200.

The Petty Cash limit is not exceed to

(A)  Rs. 10,000 (B) Rs. 40,000
(C)  Rs. 1,00,000 W Rs. 50,000
Slowmrt uemgder aupiby QsHE Wamosd Gmés Gaidm@ib

(A) e 10,000 (B)  5.40,000
(C) @ 1,00,000 (D)  .50,000

Cost slope is the ratio of

(A)  increase in cost by increase in time

(B)  decrease in cost by increase in time
W increase in cost by decrease in time

(D)  decrease in cost by decrease in time

QAgres sflay erenug ainmsdea Gu o drar alldsib
(A)  Osrews sflafiy wpmib sre sy

(B)  Ggmens Geonliy wppib sre sisfi

©€) Gsrens ofafliy wHpb sre Gampliy

D) Agres Geoply LHHID STe Gl

Consider the following statements of network

1. Only one time estimate is required for each activity

2 Three time estimator for each activity

3. Time and cost are both controlling factors

4 It is built-up event oriented diagram

Which of the above statements are correctly applicable to CPM network?
1and 3 (B) 1and?2

(C) 2and4 = (D) 3and4

20 ama Caumawilan Epasam. sampnemer sméSa Qardrs.

L gdidanm ewugissnd @Cr em apep wL A LALSE Cama

2. gaiGaurm Qswgisen aparm wlSHsar Came

3. Geeey whpd Crrb Qram@®ib s HLU@SEHID sryafsdr

4.  Gsweun® emihs cuaguLors 2 (Heun&sUUL (Derang

Cupsar_aphle CPM wapss ebs sppiser sflwmsds Qummpsib

(A)  1wppb3 (B) 1whmb?2

C) 2uwpgub 4 (D) 3 whmb4
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